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Sample Paper - 2008

Class- XII
Subject – Multimedia Technology
ime allowed : 3 hours 







 Maximum Marks: 70

· Candidates must write the Code on the title page of the answer-book.

· Please check that this question paper contains 8 printed pages.

· Code number given on the right hand side of the question paper should be written on the title page of the answer-book by the condidate.

· Please check that this question paper contains 7 questions.

Please write down the serial number of the question before attempting it______________________________________________________________________________________

1. (a) Define RDBMS . What do you understand by tuple of a relation ?





1
(b) What is the importance of a primary key in a table ?Explain with a suitable example.



1
(c) Consider the following tables CONSIGNOR and CONSIGNEE. Study the following data and  answer the question given below :

Table  CONSIGNOR 
	CnorID


	CnorName


	CnorAddress


	City



	ND01
	R Singhal
	123 , Palm Avenue
	New Delhi

	ND02
	Amit Kumar
	5/A South Street
	Mumbai

	MU50
	S Kaur
	27-K , Westend
	Mumbai


Table  : CONSIGNEE
	CneeID
	CnorId
	CneeName
	CneeAddress
	CneeCity

	MU05
	ND01
	Rahul Kishor
	5, Park Avenue
	Mumbai

	ND08
	ND02
	A P Roy
	16/J, Moore Enclave
	New Delhi

	K019
	MU50
	B P Jain
	
	Kolkata


(i) Suggest data types that should be used for each of the fields in the table CONSIGNEE.



1
(ii)Name the field which can be act as the foreign key for the table CONSIGNEE .



1
(iii) What type of relationship exist between the table CONSIGNEE and the table CONSIGNOR .


1
 (d) What do you mean by Open Source Software ? What are the conditions required for the Open Sources software ? 
2
 (e)Define the following terms










3
FLOSS , GNU , FSF , OSI , W3C,  UNICODE

2. . Questions given below are based on Macromedia Flash:

a) What do you understand by the term “Publishing a Flash Movie”? Name any two formats 

in which  a Flash movie can be published .









2

b) What is the importance of SWF and PNG file ?








2

c) Define the term Frame rate.










2

d) Observe the figure given bellow and do as directed :
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· The image on the left side shows the position of the image for frame 1.

· The image on the right side shows the position of the image for frame 50.

· The dotted line shows the path of motion of image.

Write procedure and property setting for animating the above scenario.

3
Question given below are based on HTML:
a) What are the different ways of defining the dimensions of the frame?




1
b) What is the difference between GET and POST method ?






1

c) Write the HTML code to generate a web page in the format given below :




8

Consider the following while writing the HTML code :

1. Background colour of the page should be “blue”  text color should be “white” , and 


visited link color should be “red”.

2.     Title of the page is “ WORLD CUP 20-20”

3. Text color of the main heading on the page should be “yellow”.

4. Font face of the text in the page should be “Tahoma”.

5. Picture used in the page is the file “ newsupdate.jpg”.
6. Use the concepts of nested list to display the given list.

7. Pages linked to :

i. Group-A
as
“gA.html”

ii. Group-B

as
“gB.html”

iii. Group-C

as
“gC.html”

iv. Group-D
as
“Gd.html”

8. The table should have a caption “ world Cup Cricket group” , a border of 2 pixels and


              the background  color of the first row should be “aqua”

9. Bottom message should be of size 2 and linked to www.worldcup20_20.com  .

4. 
a) Name different data types supported by ASP.







1

b) What do you understand by Dynamic array ? How is it declared ?





1

c) What is an argument ?
1


d) Explain the concept of object , property and method with an example .




1

e) What is the importance of GETAdvertisement method of ADrotator component ?



2

f) What is the importance of control schedule file of content rotator component ?



2

g)    Give output 











2
i. Response.write(INSTR ( LTRIM ( “        WEB TECHNOLOGY”) , “LOGY”))

ii. Response.write(LCASE(MID(“HeLLoW HoW ARe YoU “ , 3 , 9 )))

iii. Response.write( LTRIM(RIGHT(“congratulation##### ” , 9)))

iv. Response.write(( 13/5 >4 MOD 5) OR  (2^3^2+19\2))

5. a. Find the output of the following ASP coding








2

<html>


<body>


<% 


s=”mistrust or distrust”


m=len(s)



for I =max to 1 step 2



n=mid(s, I,2)




response.write (n)




response.write (“<br>”>



next %>



</body>



</html>

b. Convert the following coding  in to do while ------loop







2

<html>


<body>


<% 


s=array(12,45,87,54,90,76)


max=ubound(s)



for I = max to 1 step -2



s(I) = 10*s(I)




response.write (arr(I) & “<br>”)




next %>



</body>



</html>

c. Find the error in the following ASP code








2
function execute (b)


dim c,temp


c=90


temp=b+c


b=b+temp


if (c<> 200) 


response.write(temp & “  “ & b & “  “ & c)


end sub
end function 

<% dim m


m=120 


response.write execute(m)


response.print( “  “ & m & “<br>”)


m=20


response.write execute(m)


response.print( “  “ & m & “<br>”)

%>

d) Write ASP code to read the contents of file and print the count of the word “the” as an independent word in a text file “story.txt”.  
For example , if the content of the file story.txt is 







4
There was a monkey in the zoo. The 

Monkey was very naughty.

Then the output of the program should be 2.

6.  a)   Although both If….Else…..End if  and Select Case………….End Select case statements are used as decision statement . How are they differentiated from one another?








1

b) Change the following script using Do while …….. loop without affecting the output:



2

<SCRIPT LANGUAGE="VBScript">

sub result()

Dim sum

Sum=0

For I = 1 to 10


If (I mod 2 =1) then



Sum=sum+ I


Else



Sum=sum-1


End if

Next I

document.write sum 

end sub

</SCRIPT>

c) Give the output for the following script code:







2

<Script Language="VBScript">


sub result()

 
dim i


for i= 1 to 3



call sumfn(i)


next


end sub


sub sumfn(k)



dim sum , total



sum=0



total=0



for i=k to 1 step -1



sum=sum+i



total=total+sum



next



document.write(sum & “   “ &total)


end sub

</Script>

d)Rewrite the following code after correcting  the errors:






2

 
<script language =”javascript”>



sub result()




dim num1,num2





if a ≥ b 






print a





otherwise






document.write(b)





if end



endsub


</script>

e) Write an HTML (VBSCRIPT) code for creating a form, which contains five textboxes as shown below. The first textbox accept travel code and second textbox accept number of adults and third text box accepts number of children ,forth text box accepts distance in KM .. In the fifth textbox calculate total fare as follows  






3

for each adult 

	Fare(Rs)
	For Distance (Km)

	500
	>=1000

	300
	<1000 & >=500

	200
	<200


for each child the above Fare will be 50% of the Fare mentioned in the above table

for example 

if the distance is 750, no_of_adults=3 and no-of_children=2

then the total fare should be calculated as 

no_of_adults*300+no_of_children*150

i.e 3*300+2*150 = 1200
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7. 
(a) Differentiate between Synchronous and asynchronous transmission with diagram . 



2

b) What is the significance of cyber law?








1
c) Expand the following terms with respect to networking :






2

i. XML

II. WWW

III. WLL


IV TCP/IP

d) Which of the following units measures the speed with which data can be transmitted from one node to another 
node of a network? Also , give the expansion of the suggested unit 





1


i) KMph

ii)  Mbps


iii) MGps

(e) “Hindustan Connecting World Association” is planning to start their offices in four major cities in India to provide regional IT infrastructure support in the field of Education & Culture. The company has planned to set up their head office in New Delhi  in three locations and have named their New Delhi offices as “Sales Office” , “Head Office” and “Tech Office” . the company’s regional offices are located at “Coimbatore “ , “Kolkata” and “Ahmedabad” .
A rough layout of the same is as follows:








4
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Approximate difference between these offices as per network survey is as follow :

	Place From
	Place To
	Distance

	Head Office
	Sales Office
	10 KM

	Head Office
	Tech Office
	70 Meter

	Head Office
	Kolkata Office
	1291 KM

	Head Office
	Ahmedabad Office
	790 KM

	Head Office
	Coimbatore Office
	1953 KM


In continuation of the above , the company experts have planned to install the following number of computers in each of their offices :

	Head Office 
	100

	Sales Office
	20

	Tech Office
	50

	Kolkata Office
	50

	Ahmedabad Office
	50

	Coimbatore Office
	50


I. Suggest network type ( out of LAN , MAN , WAN) for connecting each of the following set of their offices:
· Head office and tech office

· Head office and Coimbatore office

II. Which device will you suggest to be procured by the company for connecting all the computers within each of their offices out of the following devices ?

· Modem

· Telephone

· Switch/Hub

III. Which of the following communication media , will you suggest to be procured by the company for connecting their local offices in New Delhi for very effective and fast communication ?

· Ethernet cable
· Optical fiber

· Telephone cable

IV. Suggest a cable /wiring layout for connecting the company’s local offices located in New Delhi . also , suggest an effective method/technology for connecting the company’s regional offices at “Kolkata” , “Coimbtore” , Ahmedabad”.
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